IDLAND

21.00

1.00

@\i (A’W

C

VALVE ACTUATOR SYSTEMS

]_OJ
o~ *
26,00 :: Is
2800 H— X\ @
®.> 5
70 “CLOSE” © 8 K Ry °
§E1R'5;\RI'DR % o o®o‘ O,
/
AR @//
§#EE%Y / o
O
1.00-
D O,
HIDDEN
9 PLACES
Page 3

SAd bk bbb b b b

i,

TO PLACE AN ORDER, OR JUST ASK A QUESTION, CALL (847) 677 - 0333 OR FAX (847) 677 - 0138

14 PLACES

REVISION 4.0 12/22/97
ITEM QrY DESCRIPTION PART NO.

T 1 AIR PRESSURE REGULATOR W/GAUGE 4703 |
2 1 AIR FILTER-LUBRICATOR E4704

3

4 2 PRESSURE SWITCH E4706
5 1 BALL VALVE E4704

6 1 PRESSURE GAUGE E4708
7 2 MUFFLER E4709

8 1 BASE E2214

9 3 BRACKET E2215
10 3 38" TEE E4039
1 1 3B'EL E4040
12

13 1 ENCLOSURE E2830
14 10 TUBE E4028
15 4 1/2°90° EL E4027
16 5 CLAMP (STEEL) E4041
17 4 NIPPLE (3' LG) E4042
18 3 NIPPLE (11/2 LG) E4043
19 2 NIPPLE (7' LG) E4044
20 4 1/Z X 3/8” REDUCER E4045
21 1 SOLENOID VALVE, N.O* E4702
2 3 1/ STRAIGHT FITTING E4026
23

24 2 38" X 4" NIPPLE E4034
%

2 9 SCREW, SS. 1/4° - 20 X 5/8” E2949
27 10 SCREW, SS #3-32 X 3/8" E2948
2 1 SCREW, SS. #1-20 X 112 E2947
2 TREAD SEALANT E4038
30 2 3/8" CLOSE NIPPLE E4036
31 1 FLOW SWITCH E4701
2 1 CORD CONNECTOR E1603
3 1 HEAT SHRINK TUBE E2302
34 1 3/8" X 1/4” REDUCER E4033
3% 4 1/4" FLAT WASHER E3111
3% 4 1/4” LOCK WASHER E3102
37 1 3/8” COUPLING E4049

B-3701M

© 2002 Midland Manufacturing Corp.

All designs subject to change without notice. Installation dimensions and mounting

arrangements are for general information. Certified drawings are available upon request.

VALVE ACTUATOR MANIFOLD - CLOSE ONLY

VALVE ACTUATOR SYSTEMS



